Quiz #1.5

Math 3430 - Section 002

Instructions. Be surc to show your work and explain your reasoning for full credit.
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There are 2 problems on this quiz. Please turn the paper over to see the second
question.

1. Find the solution to the initial value problem

dy -
—_— = g 1 —] i
e y(1)=0

Find the domain of the solution, and describe the behaviour of it as you approach the

endpoints.
% o
P [ Separetle )
|

3 oy b £
/D()M@a'm A 50/0«740—\ ! (t'?/ 00)
/é\m 74)

fim fe) =



2. Find the general solution to the differential equation

y — sin(y) sin(t) + (¢ + cos(y) cos(t))fig =i
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